Answer Guide Assignment Test II- CHU 1221 - 2006/07%

1 Correct answer is (‘.’,)

9. You should know the difference between a state property and a path property Correct answer is (1)

ntensive-properties do not depend on the amount of substance whereas extensive properties do.
orrect answer is (4), .

. Molecules need not carry the same klnetrc energy. Correct answer is (4)

5, Van der Waal Cqulthtl is forreal gases where there are attractrve forces between gas molecules
© Correct answer is (5).

Heavier molecules have Tower molecular speeds and narrower spread of speeds. Correct answer is (3)
Standard enthalpy is. deﬁned for the standard state. For sodtum it is Na(s) Correct answer is (3)

8, Correct answer is (1) v
9, Nz(g)+0(g) > 2N0(g) ------ (1) AH=180.8k} and
1/2Nz(g)+02(g) >N02(g) @) AH=339K

o. get equatlon ‘NO(g) + 1/202(g) - NOz(g) 2x(2) (l) where AH= (33.9x 2) - 180 ki= = -1130 kJ
therefore for NO(g) + 1/202(g) > NOz(g) AH=-56. 5 kJ. Correct answer is (3)

10.: Correct answer is. (3)

Real gases approxrrnate 1dea1 gases at hrgh ternperatures and low pressures Correct answer is (3)
12 In equatlon 5 two rnols of the gas gives three mols of the other gases Correct answer is (5)

13 Correct. answer is (5) Note that AE refers to mternal energy

The heat capacrty of T gofa substance is called its spemﬁc heat So you have to divide the molar heat
;apac1ty by the molal mass of sodium chloride. Correct answer is (3)

_ 5 You have | to be mmdful about thc sr“gn conventlon Correct answer is (5)

‘: dq du + pdv Be mmdful of the srgn conventron Correct answer is (4)«

‘7 Correct answer is (5)

. Correct answer is 2) AI
9 Correct an_swe_r is(2)
0 Correct answer ié 5 |
l, Correct answet‘ is (4)

P- Correct answer is (5) -




‘ 30. correct' answer is (4)

. 32. Note that T is constant. Correct answer is (5)

23.You have to know the definition of the critical temperature. Correct answer is (2) -

24. Entropy refers t()'rlisorder. In eq 5 three gds molecules are formed. Correct_aﬁswer is (5)

.- 25, correct answer,is Q3 .

26 correct answer is &1)

27. You have to’ do a calculation taking into account the number of bond that are formed and the numbcr of

‘ bonds that are broken Ans. —488 kJ. Error

28 Note that thisis a spontaneous reacnon and the product is a gas. Correct answer is 3.

29. An elementary reaction is a one step reactton Correct answer. 1s (3)

31. There was no coriect response in the Tamil medium Q.'paper.

33.‘Co_rrect answer is 2)

34, Correct answer is 3)

35, Rate of reactants will decrease and the rate of prodbcts will increase. Correct answer is 3)

36. Rate determining step is the slowest step. Correct answer is (1)

.37.-Catalyst can increase or. decrease the rate. COrrect answer is (3) -

38. Correct answer is (3) )

39.Correctanswer1s(5) R ‘f' ' o e

40. Rate refcrs to the change in concentratlon with time. If the concentratlon becomes less wrth time thc
rate w111 decrease Effectweness of the collisions refers to the formatlon of a product Correct answer is (3) -

;




